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1. Where does the conversation probably take place?
A. In a bedroom. B. In a store. C. In a village.
2. What does Jim plan to do next year? |
" A. Save some money. B. Finish, his work. C. Go on a holiday.
3. What did Tony do for the woman? ) x
A. He found her a wallet. B. He cleaned her room. C. He helped her move house.
4, What do we know about the woman? '
A. She hates to drive far to work. . '
B. She is suffering the pollution. ot
C. She’d rather drive far from the town.
5. How often does the man play football? o .

A. Once a week. B. Twice a week. C. Twice a month.
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6. What is the man fond of?

A. Popular songs. B. Love films. + G. American music.
7. How does the man like most plays? |
A They are badly written.

B. They are too noisy.

C. They are hard to understand.
8. Where do the two speakers finally deicide to go?

A. To a concert. B. To the library. C. To the theatre.
Wrsh 7 BobbRt, A EE 9 & 11 R, '
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9. What is the boy doing now?
A. Sleeping. B. Watching TV. C. Doing some cleaning.
10. What's the mother doing now?

A. Watching TV. B. Cooking. C. Doing some. cleaning.
11. What can we infer from the dialogqe? IEE R

A. The boy is untidy. ~'B. The boy is naughty. C. lThe boy is diligent.
WrEE 8 Bobhpl, EIESE 12 % 14 &,
12, How is the woman now?

A. She is well. B. She is in hospital.  C. She is badly burnt.
13. How many people got burnt in the fire? ‘

A. 2. S B. 3. : C. 4.

14. What can we know about Jenny?
A. She has been discharged from hospital.
B. She forgot to turn off the light.
C. She fell asleep with the candle burning.
WSS 9 Bkl EISE 1S 2 17 &, -
15. What’s the most probable relationship between .Sunny and David?
A. They are classmates.
B. They are strangers. . P
. C. They are party members.
16. What kind of party would it be?

A. A formal one. B. An informal one. C. A boring one. W

17. What kind of records would David bring?
A. Good for singing,
B. Good for chatting.
C. G(;od for dancing.
W4 10 Brbbkt, EIZ4S 18 % 20 /i,
18. Whete 'is the Library of Congress?
A;_ In Europe. BT
B. In Washington D. C. . )
C. In England. :
19. How did the library get its first books?
A. Thomas Jefferson sold them to the library.
B. Experts in every field wrote for the library.
C. They were brought from England.
20. What kind of books does the library have today?
A. Books on law.
B. Books on all areas.

-C. Books on machine.

>
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1. Why does the woman expect the car to run well?

A. Tt is an expensive car. B. It has just been repaired. - C.. It is an excellent car.
2. At what time does the train to Leeds leave?
A. 3:00. , B. 3:15. C. 5:00.

3. Where does the conversation most probably take place?
A. In a company. B. At the man’s house. C; In a university. -

4. How does the man think of the English language education in China? *

A. To a certain degree. B. Wonderful. C. Fairly good.
5. Which sign should it be? _ ‘
A. NO SMOKING! B. BE CAREFUL! ' C. NO PHOTOS!
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6. How long was Tom away from home yesterday?
A. For about 9. 5 hours. B. For about 10 hours.
C. For about 11. 5 hours.

7. Where did Tom have lunch yesterday?

A. Near a river. B. On grassland. C. On a hill top.
8. What was the weather like yesterday?

A. It was cloudy. B. Tt was windy. C. It was sunny.
WrsE 7 Bobb R, EIEE 9 B 11, '
9. What does the woman want to do in Hong Kong?

A. To start her further education.

B. To start her career.
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C. To start her English practicing.
10. How does the woman find English in Hong Kong?
A. Very important when you are walking in Hong Kong.
B. Very important in many international trade centers there.
C. Very important for you to live and work in Hong Kong.
11. What does the woman mean by saying “But I have to suffer now. ” 7
A, I must put my whole heart into my study from now on.
B. But I want to give it up now.
C. But I can deal with them.
WrsE 8 Bedt k), BB 12 & 14 1,
12. When does this conversation‘take place?
1 A. Just before the term begins.
B. After the first week of classes.
" C. In the middle of the term. : (v
13. Why has the woman come to see Dr. Taylor?
A. She had promised that she would.
B. She has been sick.
C. She needs his approval for her courses.
14. What does Dr Taylor seem most worried about? '
A. She already knew the material.
B. She entered the hospital.
C. Her course load may be too heavy.
WrEE O Bobrkl, B 15 2 17

15. What are the speakers talking about?

A. A high school. B. A French teacher. C. A teaching post.
16. How many hours of work does the job require per week?

A. 35. B. 45. C. 65.
17. What does the man think of the job? . ‘

A. Interesting. B. Boring. C. Disappointing.

Wr4E 10 Bobikl, 1255 18 2 20 &,
18. When did he have a party?
A. At the weekend.
B. During the Christmas holidays.
C. On his birthday.
19. Who looked in the telephone book?
A. His mother. B. His sister. C. His father.
20. What was the woman doing before she answered the phone?

A. She was reading books.  B. She was bathing. C. -She was drinking.
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1. What are the speakers talking about?

A. Popular sports events. »
B. TV programs people like best.
C. Things people do after work.
2. What time will Professor Smith finish his talk?

A." At about 1:45. . B. At about 2:15. C. At about 2:45.
3. Where does the woman want to go? ‘
A. An office. B. A fruit shop. C.. A police station..
4. What do you know about Peter Schmidi? -
A. He has lost his ticket. B. He is expecting a ticket. C. He went out to buy a ticket.

5. Where are the two speakers now?
A. On the first floor. B. On the fourth floor. C. On the fifth floor.

(IS MG EMLS 45,4225 )
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6. What is the man doing?
A. Asking for help. B. Making an apology. C. Expressing dissatisfaction.
7. Where does the conversation probably take place?
A. At an dirport. B. At a hospital. C. At a school.
e 7 BeA b, IS 8 2 10 7L, '
8. Why doesn’t the man want to see Mrs. Cathy?
A. He thinks she is not kind.
B. He is tired of waiting for people.
C. He thinks she is boring.
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9. Whom does the man have to see at 10 a. m. ?

A. Mr. White. B. Mr. Potter. C. Mrs. Cathy.
10. What is the relationship between the speakers? '

A. Father and daughter. B. Husband ‘and wife. C. Boss and secretary.
Wrsh 8 Bebtkl, BIESE 11 & 13 &,

11. Where was the woman when the hurricane took place?

A. In her father’s friend’s house.

B. In the house with her husband.

C. On her way home. _

12. When did the hurricane hit the area where the woman. lived? - .o

A. At3:30 a. m. on‘August 29. B. At5:00 a. m. on August 30 C. At noon on Augusi 30.
13. Why did they cirive very slowly? : :

A. Too many cars were on the road.

B. Broken branches were everywhere.

C. There was a very strong wind. ; .
TSR 9 Brbtht, MIAS 14 E 1718, : s
14. Why are people interested in vegetable gardening?

A. Because people can make money from.it.

B. Because people can relax themselves.

C. Because people can sell vegetables.

15. In what season(s) can a well-kept garden provide fresh vegetables?

A. In late autumn, : :

B: From late spring to autumn. /

C. From spring to late autumn.

16. What is needed to keep the" garden well?

A. Great efforts. B. A lot of money. C. Little time.
17. What can you learn from Professor Smith? '

A. Tips on how people grow vegetables.

B. Reasons for doing: vegetable gardening,

C. Kinds of vegetables people prefer.

WS 10 Bebikt, [E5E 18 % 20 1,
18. Who is the speaker?

A. A student. B. A player. C. A manager. '
19. What time does the center open?

A. 9:00a. m. . B. 9:00p. m. . C. 5:00 p. m. .

20. What is the speaker mainly talking about?
A. Different sports rules. B. Different indoor sports.

C. Different sporting activities.
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1. What is the man going to do? .
A. Have a coffee. B. Find a hotel. = e G Get 1o, the nearest bus stop.
i 2. Why does the woman agree with the man? e
A. Because she will come to live in Japan.
B. Because she is planning to visit Japan.
C. Because it will help her in her performance.
3. What is the probable relationship between the two speakers?
' A. Friends. B. Classmates. C. Strangers.
4, What are the speakers talking about? :
A. Paintings. B. Fields and trees. C. Hobbies.
5. What do we know about the woman? ' )
A. She can’t afford the money to call home often.
B. She is too busy to.call home very often.

C. She calls home as often as the man.

BW(H1S DA HEIMLS 5, %55 22.5 )
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6. Where does the conversation most probably take place?
A. At a yard.

B. At the woman’s home. - |

C. In a street.
7. What does the man give the woman? ‘

A. Some candy. B. A small basket. C. A small toy. -
8. What is the present made of? }
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A. Wool. B. Wood. C. Bamboo.
WrsR 7 BURbRL, B 9 E 11 L
9. What impresses the man most in Beijing?
A. Too much traffic with too many people.
B. Bicycles.
"C. Cars.
10. Which of the following is used to describe Beijing in 20087
A. A better traffic syl'stem. B. Less vehicles.
C. More bicycles. '

-~

11. Where is the woman probably from? v
A. Sydney. B. Athens. . | ¢ C. Beijing.
WrsH 8 Brbihl, IS 12 % 14 /. e L
12. What is the man going to do? . ,
A. Have a holiday. B. Leave school to get a job. ‘C. Write letters to his friend.
13. What does the woman agree with the man? Cf
A. It’s good to get some experience.
B. It’s good to find a job as a clerk. -
C. It’s good to have a good time on vacation. X ' R
14. What does a secretary not do? .. !
A. Write letters. B. Do some typing:
C. Give opinions on some reports.
WrEE 9 BUbbHl, EIES 15 £ 17 &,

15. Where does the young girl want to go with her father?

" A. To the park. B. To a film. . G. Torthe swimming pool.
16. What time does War in spale start? . : i . !
A. 2:45 AM. B. 2:55 PM. ‘ C. 2:30 PM.

17. What does the girl want to do later?

A. She wants to go down to the beach.

B. She wants to swim at the park.

C. Shé wants to walk to the ice cream store.
UFH 10 Bbiht, VA 18 % 20 1,
18. Where was Henry Ford bdm?

A. Germany. B. Ame;rica. C.- Australia.
19. How many children were there in Henry’s family? ’
— A. Seven. B. Six. C. Five.
20. Which of the following is not true according to the speech?

A. Henry began to work for money at the age of 6.

B. As a boy Henry enjoyed repairing watches and machines.

14
C. Henry was the inventor of the first car.
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1. When did the plane land? ‘ i
A, At 2:45. B. At2:10. oo C. At2:47.
2. Where should the woman take the No. 1 Bus? v . o .
A. Not very far away opposite. ‘ --
B. Just there,near the station. U
C. Just near the two speakers. A
3. What language does the man speak? A i
A. French. B. German and French. C. German. , i
4. What can we learn from the dialogue?
A. Visiting a friend. B. Seeing off a friend. C. Chatting with a friend.
5. What does the woman mean?
A. Meeting some difficulties in her writing.
B. No problem.
C. Very difficult.
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6. Where does this dialogue. take place? : e

A. At the police station. B. At the woman’s house: - C. On the phone.
7. What's the woman’s telephone number? )

A. 9382669. B. 9382699. C: 9482626.
8. Who is most likely the person making the noise?

A. The thief. B. The neighbor. C. The police man.
WrEs 7 BeidkL, B 9 2 1148,
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9. What is Kate’s plan for the weekend?
A. She will take a train for the first time.
B. She will go to New York to see a friend.
C. She will go camping,
10. Where did Laura live? S
A. In New York. B. Not mentioned. ' - C. The city. where Kate lives.
11. What do Kate and Laura have in common?
A. Living in New York. B. Enjoying traveling. C. Loviné music.
WrsE 8 Bt e, & 12 & 14 8,
12. Why does the woman decide to go to the Great Wall?

A. She heard a lot about it. ) LT
B. She had taken some pictures of it. .
C. She just wanted to accompany the man.
13. Where will they have their lunch? !
A. In the hotel.. B. In a certain restaurant. C. On the Great Wall.

14. Which season of the year is it when they travel?
A. Summer. B. Autumn. C. Winter. _.
WTSE 9 BobbkE, EIESE 1S E 17 8, S

15. With whom will the woman have a dinner in the evening? ’

A. Her colleagues. B. The TV newswoman. C. The businessmen..
16. How long will the woman be busy on Monday? .
A. About 13 hours: B. About 15 hours. C.. About: 17 hours.
17. What do. we conclude about the man? i
A. He’s the woman’s husband. s S
B. He’s a business manager. R ‘o

C. He’s a company secretary.
Wr5E 10 Bobtkl, BIZSE 18 E 20 &,
18. What point does the speaker want to make?
A. Machines are the most important thing in. our life.
B. The development of machines makes our life different.
C. Modern people are too dependent on machines.
19. What is smaller compared with its modern forms?
A. Radio. ~ B. Television. C. Telephone.
20. What did people'have to do when they were photographed with early cameras?
A. They had to help carry the machine. ' '
* B. They looked unnatural in the picture. .
C. They had to sit still quite long.
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